43.61:
The activity 
[image: image1.wmf]º

-

=

-

=

º

)

0

(

λ

)

0

(

so

)

(

λ

)

(

but

)

(

)

(

N

dt

dN

t

N

dt

t

dN

dt

t

dN

t

A



[image: image2.wmf].

λ

0

0

A

N

=

-

 Taking the derivative of 
[image: image3.wmf]t

t

t

e

dt

dN

e

N

dt

t

dN

e

N

t

N

λ

λ

0

λ

0

)

0

(

λ

)

(

)

(

-

-

-

=

-

=

Þ

=



[image: image4.wmf].

)

(

or

λ

0

t

e

A

t

A

-

=


_1123594493.unknown

_1123594582.unknown

_1123594587.unknown

_1123594469.unknown

